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(From “The future of Japanese longevity,” by Justin McCurry,
Mainichi Weekly, May 16, 2015)

E  longevity : EF
centenarian : 1005% (LA L) oA
“silver yen” market : & s w0 pE b i

11 o (1) ~ (15) »oFE 1 HFHizk LM BETHEE L5 OBV, TOEFETLAL
7R EW,

(1) al-low-ance (2) chal-lenge (3) com-mu-ni-ty

(4) e-con-o0-my (5) gov-ern-ment (6) im-mi-gra-tion

(7) in-ter-view (8) mo-tor-cycle (9) pol-i-ti-cian

(10) pop-u-la-tion (11) pre-fec-ture (12) pri-or-i-ty

(13) spe-cif-i-cal-ly (14) sta-tis-tics (15) un-com-fort-a-ble
M2 &o (1) — (5) = ( ) WOFRRIZHE > THEUIZRBICRB LRI,

(1) foreigner JE#&IZ)  (2) government (ZhF#) (3) possible (#F#)
(4) prediction (#h5#) (5) similarly (&)

M3 T (7) ZHAGEICRB LRI,

4  TFHES (4) ZBAGEICRBLARE,
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(1) What is the main question that the writer is interested in?
(a) Why Japan’s population has been decreasing.
(b)  What Saito-san thinks about the economy.
(c)  Why many Japanese live so long.
(d)  What factors explain Japan’s low birthrate.
(2)  Why did the writer travel to Nagano?
(a) To interview Saito-san.
(b) To compare Nagano to Okinawa.
(c) To visit the Ministry of Health, Labor, and Welfare.
(d) To go skiing.
(3)  How does the longevity of Japanese women and men compare?
(a) There is no way to compare the longevity of Japanese men and women.
(b) Japanese women live shorter lives than Japanese men.
(c) Japanese men live shorter lives than Japanese women.
(d) Japanese women live about the same number of years as Japanese men.
(4)  What does the writer think about the government’s response to the problem of a
growing population of over 65s?
(a) The government has not done a good job.
(b) The government is getting old, too.
(c) The government has done a good job.
(d)  The government favors Nagano and Okinawa.
(5)  Why do people in Okinawa live long lives?
(a) The question has not been fully answered.
(b) Okinawans ride motorcycles.
(c) Foreigners do not fill the gap.
(d) Japan has four seasons.
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What has been your favorite trip? Where did you go, what did you do, and what do
you think about the trip today?
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